BSEH MARKING SCHEME

CLASS- X SCIENCE (March-2024) Code: D

IF-Areren # Re v sw-faeg sifawr @d &1 T gomarews wd
Fidfaw g1 afy et & g9 e, freg 3ugea s R &,

Y 39 39gFd 3w T am|

The answer points given in the marking scheme are not

final. These are suggestive and indicative. If the examinee

has given different, but appropriate answers, then he should

be given appropriate marks.

Q. Answers Marks
No.
1. | c) 3ugFd gt 1
both of the above
2. |a) gahIg &
magnetic field 1
3. | fEr, 3R 1
South, North
(Y2 3i) + (%2 37)
4. | afx fre Raega urTETe T ¥ o Rigyt & &g T

HATH AU I Th 6 & gaN fdg o of St & 1 5[
SR fRdT ST & o 3o & Wt & & fAsrarar 1
diec gidr gl




BSEH Marking Scheme Class: X March-2024

One volt is the potential difference between two
points in a current carrying conductor when 1 joule
of work is done to move a charge of 1 coulomb from

one point to the other.

a) Ad R Gl @ § 9T R, A &I TEr =ar@r gl
Both A and R are true, and R is the -correct

explanation of A.

frdl ofg garT gehrer faolt & 3fREeT A1 39T
$la I AT (degree) FT ITHT &HI & T H cTFd
forar ST g1

The degree of convergence or divergence of light

rays achieved by a lens is expressed in terms of
its power.

3gar
Teh o F I AP I SN Blehel odIg & Goshd &
T H IRAMST fham 1T gl

The power of a lens is defined as the reciprocal of

its focal length.

(1 37)
g &1 &7 AT &7 S| ATS ‘S183iTeT (Dioptre) g1
The Sl unit of power of a lens is ‘Dioptre’.

(1 31)

a6 g¥ad foig ToTd b IS o7 a&3it &l FEISC oW
"hl &, 19 &I g¥- f§g (far Point) sgelrar
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The farthest point up to which the eye can see
objects clearly is called the far point of the eye.

(1 37)
98 +gidd gt o W W& *lg a&q foar vy dera
& ATt TASC SN ST Hehell §, 38 A7 7 foishe-fdg
Fed &l
The minimum distance, at which objects can be seen

most distinctly without strain, is called the near point

of the eye.
(1 3i)
3gar
or
3aRer # argwHse A6 g B
There is no atmosphere in space.
(1 37)

aIASH TGl Bl & HROT IARET H Tl &l Fehrofed
el Bl &1 5§ SRuT ¥ et 3aRer amE & 3meerer
siTel &I 319&T STell Jdid gIar g

Thus, no scattering of light takes place in space.
Thus, the sky appears dark instead of blue to an
astronaut.

(1 37)
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B (%T = E
W /
e
_. N
GRda 3@ AR Jfgd, 3 37h)
3rear
Or
(i) 3mufaa foeor, 3uafda fRorT Jar gt AT ar
JYF A dlel I8 & 3T fdg R e Tl v
& g 7 A &

The incident ray, the refracted ray and the normal to

interface of two transparent media at the point of
incidence, all lie in the same plane.

(12 37h)
(i) gahrer & frdEr AT W1 qur Afga AregAr &
aH & feIT 3T 10T T SAT (sine) TUT el 0T
I ST (sine) T 3T B BT &1 39 TH & &
T 9ddeT HI AT & Fgd &
The ratio of sine of angle of incidence to the sine of
angle of refraction is a constant, for the light of a
given colour and for the given pair of media. This
law is also known as Snell’s law of refraction.

(1% 37)
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9. |fer rm g, wiafews #r gf,
Given distance of image:
v=-Tm
(Y2 3i)
e (Object) & I,
Distance of object:
u= -25cm = -0.25 m
& SIld & o 3
As we know:
1_r.1
f v u
(Y2 3i)
.
(%2 31)
p=l
7
(%2 31)
=3m1=3D
(3R FT Y2 37k, SHIS T V2 3i)
10. |t fdegd ooy & o] & ar & @ & & &=
RsTaTeR 30 AT B aTel e URT & WA
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BIaT 8, W dR & a9 FA I@all Igu| 389 3
T Fed Bl
The potential difference across the ends of a given
metallic wire in an electric circuit is directly
proportional to the current flowing through it, provided
its temperature remains the same. This is called
Ohm’s law. 5
(1 3)
V « |
(Y2 37h)
= VI/I = f73d% (constant)= R

= V =1IR

(V2 3F)
forelr few a1T arg & fore, fqu av av W, R & fAgdaes
g, o ar &1 gfaRrer wea €

R is a constant for the given metallic wire at a given

temperature and is called its resistance
(Vo 31h)

fordl =mereh 1 IE A1) § o 98 39e A garfgd gl arel
A & Yarg F Ay FHar g

It is the property of a conductor to resist the flow of

charges through it.
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(Y2 37h)
gfeRIeT &7 S| A A g, 39 dqd AW & Aqsg Q
fasia #a gl
Its Sl unit is ohm, represented by the Greek letter
Q.

(1 3i)
FHEROT V = IR = | = V/IR & ¥ g o fordll gfckiersh
¥ garigd g arell faegd urr 39s 9oy & egd

SHHIATC gl &1 Ife gfader aregr gr Sw & faggd
YRT 3ME 7§ el B

It is obvious from Eq. V = IR = | = V/R that the
current through a resistor is inversely proportional to
its resistance. If the resistance is doubled the current
gets halved.
(1 3i)
Or
(a)
faege ol#a &1 gfaie, The resistance of electric lamp,
Ry =20 Q
AofsrA H TATIT IToleh T JTaie, The resistance of
the conductor connected in series,
R,=4Q
ad, 9Rgy & % 9fcaRIY, Then the total resistance in

the circuit,
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R=Ry+ R,

Rs =20 Q +4 Q=24 Q
(3R &1 Y2 3k, SHIS & V2 31h)
(b)
Sl & e effsell & & FHol TGy, The total
potential difference across the two terminals of the
battery
V=6V
39, A F AF & IgaR IRy H yared o
ﬁag?r 9T, Now by Ohm’s law, the current through
the circuit is given by
| = V/Rs
(1 3)
=6 V24 Q
=025 A
(3R &I Y2 3, SHIS & ¥ 3d)
(c)
fdegd oFg qur dreld W A FT FIA 9YFH-IYH

3ieI9ged Hal T, Applying Ohm’s law to the electric

lamp and conductor separately

faega ¥ & TR & o faerareR, potential difference

across the electric lamp,
Vi =20 Q x 0.25 A
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=5V
(3R FT V2 37k, SHIS HT V2 )
ATeleh & AT o & [AHATER, potential difference
across the conductor,
Vo =4 Q x 025 A
=1V
(3R FT V2 37k, SHIS T V2 )

11.

c) &t T AT

washing soda

12.

b) @l=T
gold

13.

AT
Ethanol

14.

FloTTH gEsIFEIvICSe

Calcium Hydroxyapatite

15.

d) A 3T § W R &7 ¢

A is false but R is true.

16.

o Tafas sf@fear & 3cael & @y FwAr o
fAererdl &, FeATaIdr ATATHAT FHgarrdl g

Chemical reactions in which heat is evolved are
called Exothermic Reactions.

(Y2 31F)

3CTER0T: Yehicieh 3 ol &gel/ W&HT
Example: combustion of natural gas/ respiration

(Y2 31F)
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5w TarafEe AfAfhar J FsaAr (F91) &1 3aenyoT gar
g, FSATNNT JTARTRAT Fgorar gl
Chemical Reactions in which heat is absorbed are

called Endothermic Reactions.

(Vo 31h)
32TE0T; FSHT st
Example: Thermal decomposition
(Vo 31h)
3Tqdar
Or

Fe(s) + CuSO,(aq) — FeSO,aq) + Cu(s)

Zn(s) + CuSO,(aq) — ZnSO,(aq) + Cu(s)

i)
i) Pb(s) + CuCl,(aq) — PbCl(aq) + Cu(s)
ETH O IS al, YAd HT 1 37h)
17. 2H,S + 30, - 250, + 2H,0 5

18. | a) fed a1 el folerd I AT R@Tell # 3o, 57| 3
WEeTell A ol foleAd 99 s & Sm a9 faerds
& &

Solution in test tube which changes red litmus paper

blue is acid.

(1 37)

10
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b) 31 fam I foreAd IuX s & I &l IH T g
elell R@eTell # I SRY a1 5 w@erelt # foeaa
QU offel g 93T, dg faerde 3Fey gl
Now, blue litmus paper which is changed to blue by
acid is dipped in rest of the two test tubes one by
one. Solution which changes the blue litmus paper
red is basic solution.

(1 3)
(c) darT T WAl H folcdmd JR & W H &5
aRads 6T giaT ¥, 98 fdogs 3mafad e gl
Third one solution in test tube left, which does not
change either red litmus blue or blue litmus paper
red is identified as distilled water.

(1 37)

19.

(a) dca ar A St gedr f oEudd F 9 Sd § F
gfas Fgd &l
Naturally occurring elements or compounds in earth’s
crust are called minerals.

(1 37)
(b) @i TS fohdl faRIY &g ar deq 1 A S31e]
BT & AT 3oT G131 AT dcdl S AR T F feshrer
ST Hehell §, 37TEH Fgd &

Minerals which contain a very high percentage of a
particular metal, and the metal can be profitably

extracted from it are called ores.

Science
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(1 31)
() gzl & fUUeT ¥ 9Ied 3q&h H Ulg S alell
rerererar T fACE, ool 3nfe, A9 e gl

Gangue is the impurities present in ores mined from

earth.

(1 31)

3gar
Or

a)
(i) @ forcAd o W 3 &1 g foemy 99 W #
fopam sTeT gIam|
dry litmus paper: there is no effect on dry litmus
paper.

(Y2 3i)
FhIfeh STl & IFqUieAfd & 3 a1 &aTR gu foeAw a7
% T HT ALl deeId gl
Dry litmus paper does not turns red or blue with acid
or base. So

(V2 37)
(i) 3§ forema o3 W dfe 30 AHfRaT 7 S arar
I oW SEIFASS §, Ui oWl SEFdSS U
3TET T 3FAISS &, TUT U & JH(FASS HFeg IO
arel gl &,

12
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moist litmus paper: Gas evolved is sulphur dioxide.
Since, sulphur dioxide is a non-metallic oxide and
non-metallic oxides are acidic in nature.

(Y2 37h)
3d: Ig A o foleAd 9T el T 7 g G|
Thus, moist blue litmus paper turns red.

(Y2 37h)
b) S+ 0, 3 Yol

(1 37)

20. | a) sFIIT
Butene

(1 3i)
b) FT
Hexane

(1 3i)
c) Adael
Methanal

(1 3i)
d) wosTe
Propanol

(1 3i)
e) WUAISH 31Fel
Propanoic acid

13
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(1 37h)
Ydr
Or 5
a) e SIS, Tl
Carbon dioxide, water
(1 37h)
b) TIHAISH 3Fdl
Ethanoic acid
(1 37h)
c) Wi
Propane
(1 37h)
d) @Yf3TH TUTFass, gEsield
Sodium ethoxide, hydrogen
(1 3i)
e) T, STol
Ethene, water
(1 3i)
21. | a) A=sd '
Mendel
22. | b) 9:3:3:1 1
14
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23. | 99T 31, Toreaie
Fatty acids, Glycerol 1
24. | fafdw wome S aew # gefdy, R Tur waieer &
i 3eIfohar & HHeaT H FeTIaT L &l

Various chemicals that help in coordinating plant 1

growth, development and response to the
environment.
25.|a) A d R gl G § 9T R, A &I &g <rEan gl

Both A and R are true and R is the correct 1

explanation of A.

26. | (i) TTSERT AT FI 3cUTGT

Production of testosterone hormone

(1 3t)
2
(ii) IO 3cUTEsT
Sperm production
(1 31)
27. | 1) 3oia fAesiiooliT gerat &1 &7 & FF 39919T|
Minimize use of non-biodegradable substances. 5

2) 3ota foeiietoia gerf S carfees & o
TShUT|

15
Science Code: D



BSEH Marking Scheme Class: X March-2024

Recycling of non-biodegradable materials such as

plastics.

3) WG F 3cUIes, oid AFAHuiT FX I 39 9
HI TG |

Production of compost, production of biogas from

biodegradable waste.

4) FOY dT AT HEHS H STollhl HH HAT|

Reduce the amount of waste by burning it in
incinerators.
5) 3rota fAeeoig 3R g fHeeiiooia geraf &r

3eaT-37eT9T sl H STeleT|

Putting non-biodegradable and biodegradable

materials in separate dustbins.
(F1S &I, ISP & 1 3h)

37ar

Or
g, Teh OIS TR & Siial gl & 99 a fReeT TR
Q¥ 37197 37eTdT BT

Yes, the effect of removing organisms at a trophic

level will vary at different levels.

(1 31)

Science
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Ry dive TR & Shal & IIRAT @ gHTfad fhe fear
gCT=lT §HT =T8T gl
It is not possible to remove organisms of any trophic
level without affecting the ecosystem.

(1 37)

28.

FHITITHT T
(3R 3IRG- 1 3, FIs IR 3T FATHAEDS; T H
% 3®)| 3
Nucleus

Cell body

(proper diagram- 1 mark, any four proper labelling;

Y2 mark each)

17
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29.

sfhal & R & 310 & IRadsT AR ¢ -

AT &1 Tcell glelT, ol &l HIgH glell ddT
cadT T 3TFE Jdelrd gl

H3fr el FA Thora,

Tl & 3R H Jef gl qUT A Y oo
T T &Y I g,

R & FT AT HEN Y F@, STEl & 7L
STAET &3 H dTel 3TAT dUT 3eThl 9T G B,
TG T UREST glel 3R g& & gfa e
TSI gl Scanfe|

(S deT; Ychh T 1 3+)

Changes in the body parts of girls are as follows:

Thinning of voice, softening of skin and
frequent oily skin,

Sometimes formation of pimples,

Increase in the size of the breasts and also
darken the skin color of the nipples,

Hair in some new parts of the body such as
armpits, middle genital areas of thighs and
their color is dark.,

Beginning of menstruation and becoming more
aware of others, etc.

(Any three; 1 mark each)

Science
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30.

BRI 3N@- 1 3%, P IR 3T ATHR,; TAdh FH

Vs 37%h)

Science
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Glomerulus

Bowman's
capsule

Tubular part of
nephron

Branch
of renal ;
artery : ﬁ,‘ i
1
Branch of
renal vein ?
* «—— Collecting
duct
Capillaries by
I/

(Proper diagram- 1 mark, any four proper labelling;
Y2 mark each)
e 3 IR e T age gerel IR arel SRR
HIRAPI3T & e gl Bl
The basic filtration unit in the kidneys is a cluster of
very thin-walled blood capillaries.

(Y2 3i)
d%peh H Tcdeh HiRIPT [, Th dAflehl & FT & IHR
& B & X B g1 T AfIHT Tod §T FT P ThA
LT B

Science
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Each capillary cluster in the kidney is associated with
the cup-shaped end of a coiled tube called Bowman’s
capsule that collects the filtrate.

(Y2 3ih)
Jcdeh g H U e fdeded Teeh gld g, foeg
JEFHI] (AIT) FEd &, o 39w F Aeear & 3% wa
gl

Each kidney has large numbers of these filtration

units called nephrons packed close together.

(Y2 31)

geFehIU] I AfIhlhR $ET 58 H Yaifgd FF & derdl &
AT FeRERMNYOT T B
The tubular part of the kidney absorbs selected
substances from the urine flowing in it
(Y2 31h)
Ygdar
Or

STl & sed Al &l TUAART FA & ToIT 91eq agl
dF & AT TadT T A IS TdTele] ATolhIAT o
O FH EIm gl

Plant transport system to move raw materials from

roots is constructed as independently organized

conducting tubes.

(Y2 37)

Science
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SH SSeld & §T H ST ST g oif [Heer § Ured drer
AR @ferst FF TUAART HT Bl
It is known as xylem which moves water and minerals

obtained from the soil.

STSeId 3de H 181, dai 3R gfaar & arfgfaeee aor
qIEehIT ITIE H S5 STel Hagal algehi3il &l Teh Al
STl ST §, S Uiey & gl #Rl & Hecy giar Bl

In xylem tissue, vessels and tracheids of the roots,
stems and leaves are interconnected to form a
continuous system of water-conducting channels
reaching all parts of the plant.

(V2 37h)
STt T IRV #HeT & FUeh H § dUT 9 Ahy &7 &
3T 9o &l &1 T8 o135 3R HeT & AL 3 HigoT

H T 3a¥ 3c9ooT LT gl

At the roots, cells in contact with the soil actively
take up ions. This creates a difference in the
concentration of these ions between the root and the

soil.

(Y2 37)

Science
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$H AR & FATCT el & [T HaT & ool S5 & A
FT AT & 3R T & TIH &7 AT Har § S AIdR
FW &I 3R el ST ¢

Water, therefore, moves into the root from the soil to
eliminate this difference, creating a column of water
that is steadily pushed upwards.

(Vo 37eh)
HACR 9 9IGUl I A8 doh, I &I§ ofel Pl J@l
qgare & foT TT # gHed 7 gl
However, this pressure by itself is unlikely to be

enough to move water over the heights that is

commonly found in plants.
(Vo 31)

qg A foh U6y &l qATCd STellfic §, Tod Stel &
Ta%aﬁmaﬁrgéﬁ,mquﬁ?ﬁﬁm
arfgert3il §aRT & SiTdT gl

Provided that the plant has an adequate supply of

water, the water which is lost through the stomata is
replaced by water from the xylem vessels in the leaf.
(V2 37h)

aIEdd H HIRAKT @ STl & 03T T arsTeT Teh WO
3cUood IAT &, oIl STl dl 8T H 3URAd  SASdd
AT GarT Graar gl

Science
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In fact, evaporation of water molecules from the cells
of a leaf creates suction which pulls water from the

xylem cells of roots.
(V2 37h)

9ed & Ay HEIN AT arsq & &9 H el $Hi il
arSqIchols] hgellal gl 37d: arsgicdolsd, STl & 3TgQNyoT
Ud I O 9fadl deh Siol a1 38 e @fasr oquit
& 3URAE aIfa # T+ g

The loss of water in the form of vapour from the
aerial parts of the plant is known as transpiration.
Thus, transpiration helps in the absorption and
upward movement of water and minerals dissolved
in it from roots to the leaves.

(Y2 37h)
STel & dgod H HA & U & FAY O &7 & gama
gl o A o9 T Gl § arcUlcHole HY0T, Sgerd H
STel @T a1 & T, &I WReh ool giel &

The effect of root pressure in transport of water is

more important at night. During the day when the
stomata are open, the transpiration pull becomes the
major driving force in the movement of water in the
xylem.

(Y2 37)
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